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pcolormesh with levels
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The default settings produce a diagram like this.
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pyplot — NHTepaKTMBHLIN MHTEPGENC AN NOCTPOEHUA rpaduKoB («MaLLUMHA COCTOSAHNNY)

pyplot.plot

import matplotlib as mpl 1007 ﬂ ﬂ RN
import matplotlib.pyplot as plt 0.75 - ﬂ
y=np.sin(np.linspace(0,10,1000)**2) *]

plt.plot(y 0.25 1

plt.show
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savefig(fname, dpi=None, facecolor='w', edgecolor='w', orientation="portrait’,
papertype=None, format=None, transparent=False, bbox_inches=None, pad_inches=0.1,
frameon=None)

dopmarthl: eps, jpeg, pdf, png, ps, svg



x=np.linspace(0,10,30

y=np.sin(x**2)/x

plt.plot(x,y, ' rD-"
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pyplot.plot

plot(/2,3], [2,3], 'go-', label='line 1', linewidth=2
plot([2,3], [3,4], 'rs', label='line 2°
plot([2,3], [4,5], 'b-."', label='line 3'
plot([2,3], [5,6], 'm*:', label='line 4°',
mfc="#FFFFOO',6 mew=2,ms=20
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pyplot.plot: nosuuyuoHUpos8aHue

subplot (221
plot([2,3],
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pyplot.plot: nosuuyuoHuposaHue

plt.subplot2grid((3,2),(0,0
plt.plot((2,3], [2,3], 'go-', label='line 1', linewidth=2

plt.subplot2grid((3,2),(0,1
plt.plot([2,3], [3,4], 'rs', Tlabel='line 2'

plt.subplot2grid((3,2),(1,0
plt.plot((2,3], [4,5], 'b-.", label='line 3'

plt.subplot2grid((3,2),(2,0),colspan=2
plt.plot([2,3], [5,6], "'m*:', label='line 4', lw=5,mec="#25F013"',mfc="#FFFFOO"',mew=2,ms=20

plt.legend
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pyplot.plot: nosuuyuoHUpos8aHue

x=np.linspace(-10,10,50

plt.plot(x,np.sin(x)/x

plt.plot(x,1-x**2/6

plt.ylim(-0.3,1.1
sp=plt.axes([0.62,0.6,0.25,0.22],axisbg="#BFFFFF’
plt.plot(x,1-x**2/6+x**4/120
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/lozapupmuyecKkue wKa/el

scipy.fftpack as fp
sig = scipy.loadtxt('0OYP KMAO3 2011-03-11TO53500 1.0Hz.dat'
sample freq = fp.fftfreq(sig.size
sig fft = fp.fft(sig

pidxs = np.where(sample freq = 0
freqs = sample freql|pidxs
power = np.abs(sig fft)|[pidxs

plt.subplot(311
plt.plot(freqgs,power,'r',lw=0.5

plt.subplot(312
plt.semilogy(freqs,power, 'g',lw=0.5

plt.subplot(313
plt.semilogx(freqgs,power, ' 'y"',lw=0.5
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subplot (311
plot(freqs, power,
yscale('log’
subplot (312
yscale('symlog'

subplot (313

loglog(freqs, power,

grid(True
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Tekcm, aHHOMauuu

bold figure suptitle
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g - boxed italics text in data coords
6 an equation: E = mc?
4 AHHOTauwa
2 -
@
. colored text in axes coords
0 2 4 6 '

8 10
xlabel



Tekecm, aHHOMauuu

fig = plt.figure
fig.suptitle('bold figure suptitle', fontsize=14, fontweight='bold'

ax

= fig.add subplot(111

fig.subplots adjust(top=0.85

ax.

ax.
ax.

ax.

ax.

ax.

ax.
ax.

ax.

set title('axes title'

set xlabel('xlabel’
set ylabel('ylabel!’

text(3, 8, 'boxed italics text in data coords',6 style='italic',
bbox={'facecolor':'red', 'alpha':0.5, 'pad':10

text(2, 6, r'an equation: $E=mc”2$', fontsize=15

text(0.95, 0.01, 'colored text in axes coords',
verticalalignment='bottom', horizontalalignment='right",
transform=ax.transAxes,
color="'green', fontsize=15

plot([2], [1], 'o'
annotate( 'AHHoTaumna', xy=(2, 1), xytext=(3, 4),
arrowprops=dict(facecolor="'black', shrink=0.05

axis([0, 10, 0, 10



Cmusu cmpesok

arrowstyles = ['-', '->', '-[', '"-|>",
I<_I’ I<_>I’ I<|_I’ I<|_|>I’
‘1-', '1-[', 'fancy', 'simple',
'Wedge', ||_||

X 2

y =0

dx = 10

dy = 5

for arrowstyle in arrowstyles:

arrowprops = {'arrowstyle': arrowstyle,

y += 31

plt.annotate (u'arrowstyle: ' + arrowstyle,
Xy=(Xx, vy,

xytext = (x + dx, y + dy),
arrowprops = arrowprops

plt.axis('off"'
plt.xlim([0,25
plt.ylim ([0, len(arrowstyles)*32

Earrnwstyle: -1
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np.linspace(-3*np.pi,3 np.pi,100,endpoint= True
np.sin(x

plot(x,y, 'r',lw=1l
.axhline (0.5, color='black"
.axvspan(np.pi,np.pi/2,alpha=0.2
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x=np.linspace(-10,10,20

y=np.sin(x)/x + 0.2*np.random.rand(20)-0.1

dx = 0.5

dy = 0.1+np.abs(x)/100

plt.errorbar(x, y, xerr=dx, yerr=dy, c='b', ls='--",\
lw=2, marker='0o', mfc='w', ms=5

plt.xlim(-12,12

plt.grid



MonspHas duazpamma |/ “scatter”
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r =2 * np.random.rand(N) “m-l | | |
theta = 2 * np.pi * np.random.rand(N) 0 2 4 6

area = 200 * r*t*2
colors = theta

plt.subplot(121, projection='polar')
plt.scatter(theta, r, c=colors, s=area, cmap='hsv', alpha=0.75)

plt.subplot(122)
plt.scatter(theta, r, c=colors, s=area, cmap='hsv', alpha=0.75)
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pyplot.imshow

def f(x, y):
return (1-x/2+x* 5+y*%3) * np.exp(-x**2-y**2)

X = np.linspace(-3,3,40)

y = np.linspace(-3,3,30)

X, Y = np.meshgrid(x,y)

array = f(x,y)

plt.figure(1l)
plt.imshow(array, cmap='gray')
plt.xlabel ("X, pixels")
plt.ylabel("Y, pixels")

plt.grid()

Y, pixels
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matplotlib.image

>>> import matplotlib.image as mpimg

>>> mpimg.imread('DSCO2766.JPG")
array([[[166, 168, 163],

[166, 168, 163],

[166, 167, 161],

[180, 185, 179],
[179, 184, 178],
(179, 184, 178]],

[193, 198, 202],
[191, 198, 204],
0190, 197, 203]]], dtype=uint8)

>>> mpimg.imread('DSCO2766.JPG"')/255
array([[[ 0.65098039, 0.65882353, 0.63921569],

[ 0.65098039. 0.65882353. 0.63921569] .
[ 0.65098039. 0.65490196. ©.63137255].

[ 0.70588235, 0.7254902 ., 0.70196078],

[ 0.70196078. 0.72156863. ©.69803922].

[ 0.70196078. 0.72156863. 0.69803922]1,
[ 0.75686275, 0.77647059, 0.79215686],

[ 0.74901961. 0.77647059. 0.8 1]

[ 0.74500804. 0.77254902. 0.79607843111)



matplotlib.image

img = mpimg.imread('DSC02766.jpg"')/255
imgplot = plt.imshow(img|:,:,0],cmap="'seismic"’
plt.colorbar
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X,Y,z = np.loadtxt('/mnt/data/topo/N58E163.hgt.dat.cropped', unpack=True
levels = [0, 5, 10, 50, 100, 150

cnt = plt.tricontour(x,y,z,levels

plt.clabel(cnt, fmt="'%d', colors='k', inline=False
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I. Camble npocTble rpaduuecKkme KOMaHAabl:

pyplot.scatter() - mapkep nnn Tode4Hoe pucosaHue
pyplot.plot() - nomaHas nMHus
pyplot.text() - HaHeceHne TekcTa

II AvarpamMmmbi:

pyplot.bar(), pyplot.barh(), pyplot.barbs(), broken_barh() - ctonéyaraa gnarpamma
pyplot.hist(), pyplot.hist2d(), pyplot.hlines - ructorpamma

pyplot.pie() - kpyroBasi gnarpamma

pyplot.boxplot() - "awmk ¢ ycamn" (boxwhisker)

pyplot.errorbar() - oueHka norpeLluHocTH, "ycbl"

l1l. U306parkeHnA B U30/AUHUAX:

pyplot.contour() - n3onnHum
pyplot.contourf() - 3onMHWKN C NOCIOMHOWN OKPaCKOK

IV. OTobpakeHua:

pyplot.pcolor(), pyplot.pcolormesh() - nceBgouBeTHOE n3obpaxeHne matpuubl (2D maccuea)
pyplot.imshow() - BcTaBka rpaduku (NMKcenu + crinaxmneaHue)
pyplot.matshow() - oTobpaxeHune gaHHbIX B BUAE KBagpaToB

V. 3a/1MBKa:

pyplot.fill() - 3annBka MHoOroyroneHMKa
pyplot.fill_between(), pyplot.fill_betweenx() - 3anueka mexagy ABYMS NMUHUSMU

VI. BeKTOpHbIE AMArpamMmmbil:

pyplot.streamplot() - nuHMKN TOKa
pyplot.quiver() - BekTopHOE none



